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- <calculation-formula-info>
- <characteristic>
- <HPAXREHEE>
- <item>
<condition>default</condition>
<formula>30000 / (0.9 * claim-info:number-of-characters-of-feature + 0.1 * claim-info:number-of-characters-of-premise) </formula>
</item>
</HPXREHEE>
- <FEHARBEE>
- <item>
<condition>default</condition>
<formula>(claims:number-of-claims * 0.5 + claims:nest-level * 0.3 + claims:number-of-categories * 0.2) * 7</formula>
</item>
</RARBE>
- <BHE>
- <item>
<condition>default</condition>
<formula>(description:number-of-quoted-patents + description:number-of-quoted-non-patents) * 20 + 20</formula>
</item>
</REIE >
- <BAMERRE>
- <item>
<condition>default</condition>
<formula>(description:number-of-embodiment-characters / claims:number-of-characters-of-representation-category) * 8</formula>
</item>
</BAMERFTE>
</characteristic>
- <total>
- <HWERE>
- <item>
<condition>default</condition>
<formula>(FBAXGHMBE * 0.3 + RAREBKE * 0.3 + ARHE * 0.1 + AMASETE * 0.3)</formula>
</item>
</BHHERE>
</total>
</calculation-formula-info>



